Find the unknown side length. Write your answer in simplest radical form.
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Find the value of each variable. Round each answer to the nearest tenth.
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Find the value of t‘ﬁe *var iable. ROiji“id eacn answer to the nearest tenth.
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Use the trig ratios to find the value of x. Round to the nearest tenth.
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18. Find the value of £Fand ZG. 19. Find the value of ~ A and £B.
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20. Solve the right triangle. (find EVERYTHING!) Round answers to the nearest tenth.
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21. A chair lift on a ski slope has an angle of elevation of 28° and covers a total distance of 4640 feet.
To the nearest foot, what is the vertical height of the chair lift?
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